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- Assignment 3: Automated Regression Testing




Regression Testing

expected outputs

!-a"rOI .expec’red.’rx’r\
) i atO2.expected.txt

pids /\{oracle program

|-a’rOI Axt at99.expected.txt
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riden’rical?
at99.txt B 4 _

© at01.actual. txt
4 _’ at02.actual.txt

Your Program

I_cfr99.ac’rual.’rx1‘

actual outputs







ALGORITHM: BUParse

INPUT: CFG G=(V, X, R, S), Action & Goto Tables

OUTPUT: Report Parse Success
PROCEDURE :

initialize an empty stack trace
/* start state x/

trace.push (S)
word := NextWord()
while (true)
state := trace.top ()
act := Action|state,
if act = ‘‘accept’’
succeed ()
elseif act =

word]
then

state := trace.top ()

trace.push (A)

next := Goto[state,

trace.push (next)
elseif act = ‘‘shift §;’’

trace.push (word)

frace.push (S;)

word := NextWord/()
else

fail()

Al

‘‘reduce A— 3’’ then
trace.pop () 2x|B| times /» word + state =*/

then

or Syntax Error
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Bottom-Up Parsing: Discovering Rightmost Derivations (1

ALGORITHM: BUParse Parse: ( ) 4’.
INPUT: CFG G=(V, ¥, R, S), Action & Goto Tables N I —— Y .. §
OUTPUT: Report Parse Success or Syntax Error é;'g'f‘ > %,‘/

PROCEDURE : UZ?J Cf
initialize_an empty stack trace
trace.push(S) /x start state x/ 1 Goal — List

PR B I 2 List —> List Pair 2 /

= ;,-;,--‘ (true) @ Pui

/ ;‘r@ .= trace. top () » [1,;( | Pair %

“%adl)) ToTeR—~< Y/ 4  Pair — ( Pair Y
RE act = - 70"'1 . : (v Z"ft

47/
=‘ “reduce—> " then F
ace.poply 2x|B| times /x word + state x/
P22 i lEeditop )
> tracezplu @ 1% Zf,&gf :
Goto[state, A ist W pais
trace ush (next) @(0) ) 1C)
:;lseif act =~ shift ’ then i)
TR K

trace . push (word "
( i)

trace.push

qwora = Ne tWord ()
else
fail ()
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Bottom-Up Parsing: Discovering Rightmost Derivations (2
ALGORITHM: BUParse Parse: ( ( ) ) ( )

INPUT: CFG G=(V, ¥, R, S), Action & Goto Tables
OUTPUT: Report Parse Success or Syntax Error
PROCEDURE :
initialize an empty stack trace
trace.push(S) /% start state x/
word := NextWord()
while (true)
State := trace.top ()
act := Action|[state, word]
if act = ‘‘accept’’ then
succeed ()
elseif act = ‘‘reduce A— B’’ then
trace.pop () 2x|B| times /+ word + state =*/

1  Goal — List

2 List — List Pair
3 | Pair

4  Pair — ( Pair )
5

1 C)

state := trace.top () ActionTable J| Goto Table

trace.push (A)
next := Gotol[state, A]
trace.push (next)
elseif act = ‘‘shift S;j’’ then
trace.push (word)
trace.push (S;)
word := NextWord()
else
fail()
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Bottom-Up Parsing: Discovering Rightmost Derivations (3
Parse: () )

ALGORITHM: BUParse
INPUT: CFG G=(V, ¥, R, S), Action & Goto Tables
OUTPUT: Report Parse Success or Syntax Error

PROCEDURE :
initialize an empty stack trace
trace.push(S) /* start state x/

Goal — List

fail()

Word o= NextWozd() 2 List — List Pair
while (true) )
state := trace.pop () 3 | Pair
act := Action|[state, word] 4 Pair — ( Pair )
if act = ‘‘accept’’ then » -
succeed () 5 | L l
elseif act = ‘‘reduce A— 3’’ then
trace.pop() 2x |B| times /+ word + state =/
e
next := Goto[state, A] --m
trace . push (next) 0
elseif act = ‘‘shift s;’’ thenl| ,
trace . push (word) 5
frace.push (S;) 3
word := NextWord /() 4
else 5
6
7
8
9
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